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[Question ID = 701][Question Description = Q1_Kannada_Set1_A]
1. 1 [Qption 1D = 2801]
2, 2 [Option ID = 2802)
3. 3 [Option 1D = 2803]
4. 4 [Option 1D = 2804)
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[Question ID = 702][Question Description = Q2_Kannada_Set1_A]
1. 1 [Dption ID = 2805]
2. 2 [Qption ID = 2306]
1. 3 [Option ID = 2307]
4. 4 [Option 1D = 2208)
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[Question ID = 703][Question Description = Q3_Kannada_Set1_A]
1. 1 [Option ID = 2309]
2. 2 [Option 1D = 2810]
3, 3 [Optian ID = 2811)
4, 4 [Option ID = 2812]
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[Question ID = 704][Question Description = Q4_Kannada_Set1_A]
1. 1 [Dption ID = 2813]
2. 2 [Option ID = 2814)
3. 3 [Option ID = 2815]
4. 4 [Option 1D = 2816]
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[Question ID = 705][Question Description = Q5_Kannada_Set1_A]
1. 1 [Dption ID = 2817]
2. 2 [Qption I = 2318]
1. 3 [Option ID = 2319]
4. 4 [Option 1D = 2820)
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[Question ID = 706][Question Description = Q&_Kannada_Set1_B]
. 1 [Option ID = 2821)
. 2 [Option ID = 2827]
. 3 [Option ID = 2823]
. 4 [Option ID = 2824]
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[Question ID = 7O7][Question Description = Q7 _Kannada_Set1_B]
1. 1 [Option 1D = 2825]
2. 2 [Option ID = 2826)

3. 3 [Cption I = 2827]
4. 4 [Option ID = 2828]
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[Question ID = 726][Question Description = Q26_Kannada_Set1_C]
1. 1 [Option ID = 2901]
2. 2 [Option 1D = 2902]
3. 3 [Option 1D = 2903)
4. 4 [Option ID = 2904]

17} «agh doresd Oaoh Gadr Je0d Do

(&)  goteeddos DE) DEITI
B) o3 &3 orY

(C) Hozddnusd de) DEedsns 43

D)  Somede Oniv &) vdE ory

E) b sh0

B BUAR BokyVO FONIRG CUZ0ER) rHhad:

O QR B IS @ (D)D) (C) oz,
@ @ ans @ ®ang

[Questicn ID = 727][Question Description = Q27 _Kannada_Set1_C]
1. 1 [Dption ID = 2905]
2. 2 [Qption 1D = 2904]
3. 3 [Qption ID = 2907]
4. 4 [Option 1D = 2908)
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[Question ID = 728][Question Description = Q28_Kannada_Set1_C]
1. 1 [Option ID = 2909]
2. 2 [Option 1D = 2910]
3. 3 [Qption 1D = 2911]
4, 4 [Optian ID = 2912]
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[Questicn ID = 729][Question Description = 29_Kannada_Set1_C]
1. 1 [Dption ID = 2913]
2. 2 [Option ID = 2914]
3. 3 [Qption ID = 2915]
4, 4 [Option 1D = 2918]
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[Questicn ID = 730][Question Description = Q30_Kannada_Set1_C]
1. 1 [Dption ID = 2917]
2. 2 [Option ID = 2913)
1. 3 [Option ID = 2919]
4. 4 [Option 1D = 2920]
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[Question ID = 731][Question Description = G311 _Kannada_Set1_C]
1, 1 [Option 1D = 2921]
2. 2 [Option ID = 2922)
3. 3 [Option ID = 2923]
4, 4 [Option ID = 2524]
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[Question ID = 732][Question Description = Q32_Kannada_Set1_C]

1. 1 [Option ID = 2925]
| 2. 2 [Option ID = 2926]
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| 3. 3 [Option ID = 2927]
4. 4 [Option ID = 2928]
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[Questicn ID = 733][Question Description = 33_Kannada_Set1_cC]
1. 1 [Qption 1D = 2929]
2, 2 [Qption 1D = 2930)
3. 3 [Option 1D = 2931]
4, 4 [Option ID = 2932]
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[Questicn ID = 734][Question Description = Q34_Kannada_Set1_C]
1. 1 [Option ID = 2933]
2. 2 [Qption ID = 2934]
3. 3 [Option ID = 2925]
4, 4 [Qption 1D = 2936)
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[Question ID = 735][Question Description = G35_Kannada_Set1_C]
1. 1 [Option 1D = 2637)
2. 2 [Option ID = 2938)
3. 3 [Option 1D = 2939]
4, 4 [Option 1D = 2940]
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[Questicn ID = 736][Question Description = Q36_Kannada_Set1_cC]
| 1. 1 [Option 1D = 2941]
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| 2. 2 [Option ID = 2942]
3. 3 [Option ID = 2943]
4, 4 [Option ID = 2944]
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[Question ID = 737][Question Description = Q37_Kannada_Set1_C]
1. 1 [Option ID = 2945]
2. 2 [Option 1D = 2946]

3, 3 [Optian ID = 2947]
4. 4 [Option ID = 2948]
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[Questicn ID = 738][Question Description = Q38 _Kannada_Set1_C]
1. 1 [Option ID = 2949]
2. 2 [Option 1D = 2950]

3. 3 [Option 1D = 2951]
4. 4 [Option ID = 2952]
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[Question [D = 739][Question Description = Q39_Kannhada_Set1_C]
1. 1 [Option 1D = 2953]
2, 2 [Option I = 2554]
3. 3 [Option ID = 2555]
4, 4 [Qption 1D = 2956)
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[Questicn ID = 740][Question Description = Q40_Kannada_Set1_C]
1. 1 [Dption ID = 2957]
2. 2 [Option ID = 2953)
3. 3 [Option ID = 2959]
4. 4 [Option 1D = 2960)
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[Question ID = 741][Question Description = Q41_Kannada_Set1_C]
1. 1 [Option ID = 2961]
2. 2 [Option ID = 2962]
3. 3 [Option 1D = 2963]
4, 4 [Option 1D = 2964)
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[Question ID = 742][Question Description = Q42_Kannada_Set1_C]
1. 1 [Qption 1D = 2945]
2. 2 [Option 1D = 2946]
3. 3 [Option ID = 2947)
4. 4 [Option ID = 2968]
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[Questicn ID = 743][Question Description = Q43_Kannada_Set1_cC]
1. 1 [Qption 1D = 2969]
2, 2 [Option ID = 2970)

3. 3 [Option ID = 2971]
4, 4 [Option ID = 2977]
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[Questicn ID = 744][Question Description = Q44_Kannada_Set1_C]
1. 1 [Option ID = 2973)
2. 2 [Option 1D = 2974]
1. 3 [Option ID = 2975]
4. 4 [Option 1D = 2975]
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[Questicn ID = 745][Question Description = Q45_Kannada_Set1_C]
1. 1 [Option ID = 2977]
2. 2 [Option ID = 2978]

3. 3 [Option ID = 2579]
4, 4 [Qption 1D = 2980)
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[Question ID = 746][Question Description = Q46_Kannada_Set1_C]
1. 1 [Option 1D = 2981]
1. 2 [Option ID = 2981]
3. 3 [Option 1D = 2983)
4. 4 [Option ID = 2084]
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[Questicn ID = 747][Question Description = Q47_Kannada_Set1_C]

1. 1 [Option ID = 2985]
2. 2 [Option ID = 2986]
3. 3 [Option ID = 2987]
4, 4 [Option ID = 2988]
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[Question ID = 748][Question Description = G48_Kannada_S=t1_C]
1. 1 [Option 1D = 2989]
2. 2 [Option ID = 2990]
3. 3 [Option 1D = 2991]
4, 4 [Option ID = 2992]
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[Question ID = 749][Question Description = Q49_Kannada_Set1_cC]
1. 1 [Option 1D = 2693]
2, 2 [Option ID = 2994]
3. 3 [Option 1D = 2995]
4, 4 [Option ID = 2994]
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[Questicn ID = 750][Question Description = Q50_Kannada_Set1_C]
1. 1 [Option ID = 2997]
2. 2 [Qption ID = 2993]

3. 3 [Option ID = 2599]
4, 4 [Option ID = 3000)
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[Question ID = 751][Question Description = @51_HKannada_Set1_C]

1. 1 [Qption 1D =
2. 2 [Option 1D =
3. 3 [Option ID =
4, 4 [Option 1D =

3001]
3002]
3003]
3004]

42} 3 1= @6 11 O 2203 deohd wddnd

3¢y I 3¢y 1T
A3, udes 33, S0 Lo.8.0o8Rma
B dpeNe) 5983 B ewidich 1 chuats g B 72,0
C.awerrd Heud asn Sdramnn 111 & eodezf
D.=ab, aend)s Bonodeviecds 208030 (IV.8.d.rbous,

5 BYNSDHNYO S0RE vustasy, voly dnb.

(1)
(2}
(3)
(4)

[Questicon ID

(A)-(I0). (B)-(I), (C)-AV). (D)-(IL)
(A)-(D. (B, (O)-AV), M-(IID
(A)-(III). (B)-(I), (O)-(1D), MAIV)
(A)-(1), (B)-{1L}. (C)-(I), (D)-{IV)

= 752][Question Description = (52_Kannada_Set1_C]

1. 1 [Option ID = 3005]
2. 2 [Option ID = 3006]
3. 3 [Option ID = 3007]
4, 4 [Option ID = 3008]
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[Questicn ID = 754][Question Description = 54_Kannada_Set1_C]
1. 1 [Dption ID = 3013]
2. 2 [Qption ID = 3014]
3. 3 [Option ID = 3015]
4. 4 [Option 1D = 3016]
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[Questicn ID = 755][Question Description = Q55_Kannada_Set1_C]
1. 1 [Dption ID = 3017]
2. 2 [Qption ID = 3018]

3. 3 [Option ID = 2019]
4, 4 [Option 1D = 302))
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[Question ID = 756][Question Description = Q56_Kannada_Set1_C]
1. 1 [Option 1D = 3021]
2. 2 [Option ID = 3022)
3. 3 [Option ID = 3023]
4, 4 [Option 1D = 3024]
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[Question ID = 757][Question Description = Q57_Kannada_Set1_C]
1. 1 [Cption I = 3025]
i, 2 [Option ID = 3026]
3. 3 [Optian ID = 3027)
4, 4 [Option ID = 3028)
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[Question ID = 758][Question Description = G58_Kannada_Set1_C]
1. 1 [Qption ID = 3029)
2. 2 [Option ID = 3030]
3. 3 [Option 1D = 3031]
4, 4 [Option ID = 3032]
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[Question ID = 75%9][Question Description = G59_Kannada_Set1_C]
1. 1 [Option 1D = 3033)
2. 2 [Option ID = 3034]
3. 3 [Option 1D = 3035]
4, 4 [Option 1D = 3034]
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[Question ID = 760][Question Description = G60_Kannada_Set1_C]
1, 1 [Option 1D = 3037)
2. 2 [Option ID = 3038)
3. 3 [Option 1D = 3039]
4, 4 [Option 1D = 3040]
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[Question ID = 761][Question Description = Q61_Kannada_Set1_C]
1. 1 [Cption I = 3041]
1. 2 [Option ID = 3042]
3. 3 [Option 1D = 3043)
4. 4 [Option ID = 3044]
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[Questicn ID = 762][Question Description = Q62_Kannada_Set1_C]
1. 1 [Dption ID = 3045)
2. 2 [Option ID = 3046)
1. 3 [Option I = 3047]
4, 4 [Option 1D = 3048)

33 3edmes 3,3, 680 ‘B 0@ By sarowdan BeoBME ITEY:

{A) TREETbhr et Fadod

(B) oo 23 du) ot Jged

{€) SPYnv SeJg St Jwhd dgedsy
(D Adurbodd word shenoud %dﬂoéd

(E)  rom-Bgs Sowonindd evotho Sus

& YN el N S0ENRT euZoSY, rbthad:

1) a3 E) a8,

{# A DB (C) Ena,

3 (E)yang

{4} (D) gy
[Question ID = 763][Question Description = Q63_Kannada_Set1_cC]
1. 1 [Option ID = 2049]
2. 2 [Option 1D = 3050)

3. 3 [Option ID = 3051]
4. 4 [Option ID = 3052]
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[Question ID = 764][Question Description = Q64_Kannada_Set1_C]
1. 1 [Option 1D = 3053)
2, 7 [Optign 1D = 3054)

3. 3 [Option ID = 3055
4, 4 [Option ID = 3056]
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[Questicn ID = 765][Question Description = Q65_Kannada_Set1_C]
1. 1 [Dption ID = 3057]
2. 2 [Qption I = 3058]
1. 3 [Option I = 3059]
4. 4 [Option 1D = 3060)
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[Question ID = 766][Question Description = Q66_Kannada_Set1_C]
1, 1 [Option ID = 3061]
2. 2 [Option 1D = 3062]
3. 3 [Optian ID = 3063]
4, 4 [Option 1D = 3044)
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[Question ID = 767][Question Description = 67 _Kannada_Set1_C]
1. 1 [Option 1D = 3065)
2. 2 [Option ID = 3066)
3. 3 [Option 1D = 3067]
4, 4 [Option ID = 3068]
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[Questicn ID = 768][Question Description = Q68_Kannada_Set1_C]
1. 1 [Qption 1D = 2069]
2. 2 [Option ID = 3070]
3. 3 [Option 1D = 3071]
4, 4 [Option ID = 3072]
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(3) (A)-IV), (B)-(1IL), (C)-(ID), (D)-(D

(4} (A)-(D), (B)-IV), (C)-(D), )1
[Question ID = 769][Question Description = G69_Kannada_Set1_C]
1. 1 [Optian ID = 3073
2. 2 [Option ID = 3074]

3. 3 [Option I = 3075]
4. 4 [Option 1D = 3076]
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(4} (A)-D). (B)-(IT), {O)-(IV). (D)-(1ID
[Question 1D = 770][Question Description = Q70_Kannada_Set1_C]
1. 1 [Dption ID = 3077)
2. 2 [Option ID = 3078]

3. 3 [Qption ID = 3079]
4. 4 [Option ID = 3080]
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[Question ID = 771][Question Description = G71_Kannada_Set1_cC]
1. 1 [Qption 1D = 2081]
2. 2 [Option ID = 3082]
3. 3 [Option 1D = 3083]
4, 4 [Option ID = 3084]
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[Question ID = 772][Question Description = G72_Kannada_Set1_C]
1. 1 [Option 1D = 3085)
2. 2 [Option ID = 3086]
3. 3 [Option 1D = 3087]
4, 4 [Option ID = 3088]
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[Question ID = 773][Question Description = G73_Kannada_Set1_C]
1. 1 [Option 1D = 3089)
2. 2 [Option ID = 3090]

3. 3 [Option ID = 3091]
4. 4 [Option ID = 3092]
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[Question ID = 774][Question Description = G74_Kannada_Set1_C]
1. 1 [Optian ID = 3093
2. 2 [Option ID = 3094]
3. 3 [Option ID = 3095]
4, 4 [Qption 1D = 3096]
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[Questicn ID = 775][Question Description = Q75_Kannada_Set1_C]
1. 1 [Option ID = 3097]
2. 2 [Option 1D = 3098]
3. 3 [Option ID = 3099)
4, 4 [Option 1D = 3100]
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[Questicn ID = 776][Question Description = Q76_Kannada_Set1_C]
1. 1 [Dption ID = 3101]
2. 2 [Qption I = 3102]
3. 3 [Qption 1D = 2103]
4. 4 [Option 1D = 3104]
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[Question [D = 777][Question Description = Q77_Kannada_Set1_C]
1. 1 [Option 1D = 3105]
1. 2 [Option ID = 2106]
3. 3 [Option ID = 3107]
4, 4 [Option 1D = 3108)
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[Question ID = 778][Question Description = G78_Kannada_S=t1_C]
1. 1 [Option 1D = 3109)
2, 2 [Option 1D = 3110]
3. 3 [Option 1D = 3111]
4, 4 [Option ID = 3112]

69)  Seridabes Sevees ZD0R0ehY) | Fermboby dedd MBAMIOMNE OTHD ' oo IS, BV

R
{1) oD (Z) Dmegead
(3)  domydes 4 &, B3osa0ha

[Questicn ID = 779][Question Description = G79_Kannada_Set1_C]
1. 1 [Qption 1D = 3113]
2, 2 [Option 1D = 3114)
3. 3 [Option 1D = 3115]
4. 4 [Option ID = 3116)
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[Question ID = 780][Question Description = GB0_Kannada_Set1_C]
1. 1 [@ption 1D = 3117]
2. 2 [Option ID = 3118]
3. 3 [Option ID = 311%9]
4. 4 [Option ID = 3120)
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[Question ID = 781][Question Description = G81_Kannada_Set1_C]
1. 1 [Option 1D = 3121]
2. 2 [Option ID = 3122]
3. 3 [Option 1D = 3123]
4, 4 [Option 1D = 3124]
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[Question D = 782][Question Description = Q82Z_Kannada_Set1_C]
1. 1 [Option 1D = 3125]
1. 2 [Option ID = 3126]
3. 3 [Option ID = 3127]
4, 4 [Option 1D = 3123)

73} 8 3uB0d o mLriv 3088200 ' IFENRS Aabo’ TEE T

(&) 9 SEy Dug, wehdoh Tuf gretnolizord, el srao
(B)  wobabo 3B8eudth dyd alng} avulng shecdugdey

{ edm0 gorzdordorbdridemaonieeoio arat%m‘

D)  BEbOERUTS MRrdehod B BFo

(E) 8338 deeh sorydrichacho Deben DdrEo 200D

B SUN esalyrive SBERT eudERy T a:

O @ DB 3 @ @ e (D) ane’d
@ ®aR Oag @ © @3 E 3%

[Questicn ID = 783][Question Description = Q83_Kannada_Set1_C]
1. 1 [Dption ID = 3129]
2. 2 [Qption I = 3130]
3. 3 [Qption 1D = 2121]
4, 4 [Option 1D = 3132)
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[Questicn ID = 784][Question Description = QB4_Kannada_Set1_C]
1. 1 [Qption 1D = 3123]
2, 2 [Option 1D = 3134)
3. 3 [Option 1D = 3135]
4, 4 [Option ID = 31346]
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[Questicn ID = 785][Question Description = QB5_Kannada_Set1_C]
1. 1 [Option ID = 3137]
2. 2 [Option ID = 31348]

3. 3 [Option ID = 3139]
4, 4 [Qption 1D = 3140]
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[Question ID = 786][Question Description = G86_Kannada_Set1_C]
1. 1 [Option 1D = 3141]
2. 2 [Option ID = 3142)
3, 3 [Option ID = 3143]
4, 4 [Option 1D = 3144]
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[Question ID = 787][Question Description = Q87_Kannada_Set1_C]
1. 1 [Option ID = 3145]
2. 2 [Option ID = 3144]
3. 3 [Option 1D = 3147]
4, 4 [Option ID = 3148)
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[Question ID = 788][Question Description = G88_Kannada_Set1_C]
1. 1 [Option 1D = 314%9]

2. 2 [Option ID = 3150]

3. 3 [Option ID = 3151]
4, 4 [Option ID = 3152]
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[Questicn ID = 78%][Question Description = Q89_Kannada_Set1_C]
1. 1 [Option ID = 3153]
2. 2 [Qption ID = 3154]
3. 3 [Option ID = 3155]
4. 4 [Option 1D = 3156]

80} it oUm Hedtriva) SeBwN. LOBRY Tedd A aotle DRy 0T FTR-
Ja0s R ootie 3dubernivs.

BeoS A . "eB5eRd B3 ISERRR duab, SRFC0REEobdTR) 3eBrEtRDT

gty TYARE B03x Soddidecd €5 Tiedd Srvobe DEdesieddd

To0 mewnie”

FOo-InC8 R "Zodak JgSmenedduod TEEa, w0 Sedrobd) SEbPmA GeTunRG

88eTBciy ToTIT Tehed Grbr)0anh ToTeh Bnt) dTobas), e Fed
aearobal TyEiooess) Teb Beban”

e oUes wedsny spatd tkd. 8 3VNDnve ud IDWRT svagdddy sol), 5.

(1)
(2)
(3)
)

A &R oddde 80 2@ R ocbaich A ob £0oied dadsinhd
A 2aR odde ©0. uud R odydeh A ab 360G datzadrhe.
A gred 70,800 K 70 wo.

A0 %) 800 R aRd, 30,

[Questicn ID = 790][Question Description = Q90_Kannada_Set1_C]
1. 1 [Option ID = 3157]
2. 2 [Option ID = 3158]
3. 3 [Option 1D = 3159]
4, 4 [Option 1D = 31640)
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[Question [D = 791][Question Description = Q91_Kannada_Set1_C]
1. 1 [Qption I = 3161]
1. 2 [Option ID = 31461]
3. 3 [Qption ID = 3143]
4, 4 [Option 1D = 3164)
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[Question ID = 792][Question Description = Q92_Kannada_Set1_C]
1. 1 [Option ID = 3165]
1. 2 [Option ID = 3166]
3. 3 [Option ID = 3147)
4, 4 [Option 1D = 31648)

8 1m0 32 200 Sy e
1) 883 Sosud @  dBTor Bose
G 5D @) Domness

[Questicn ID = 793][Question Description = 93_Kannada_Set1_C]
1. 1 [Dption ID = 3169]
2. 2 [Option ID = 3170)
1. 3 [Option ID = 3171]
4. 4 [Option 1D = 3172]
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[Questicn ID = 794][Question Description = 94_Kannada_Set1_C]
1. 1 [Dption ID = 3173]
2. 2 [Qption I = 3174]
3. 3 [Qption ID = 3175]
4, 4 [Option 1D = 3178)
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[Questicn ID = 795][Question Description = 095_Kannada_Set1_cC]
1. 1 [Qption 1D = 3177]
2. 2 [Option 1D = 3178]
3. 3 [Option ID = 3179]
4. 4 [Option ID = 3180]
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[Questicn ID = 796][Question Description = Q96_Kannada_Set1_C]
1. 1 [Option I = 3181]
2. 2 [Option 1D = 3182)]
3. 3 [Option 1D = 3183]
4, 4 [Option 1D = 3184)
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[Questicn ID = 797][Question Description = Q97_Kannada_Set1_C]
1. 1 [Dption ID = 3185]
2. 2 [Qption ID = 3186]
3. 3 [Qption ID = 2187]
4, 4 [Option 1D = 3183)
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[Questicn ID = 798][Question Description = Q98_Kannada_Set1_C]
1. 1 [Qption 1D = 3189]
2. 2 [Option 1D = 23190]
3. 3 [Option 1D = 3191]
4. 4 [Option ID = 3192]
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[Questicn ID = 79%][Question Description = 99_Kannada_Set1_C]
1. 1 [Dption ID = 3193]
2. 2 [Qption ID = 3194]
3. 3 [Qption ID = 3195]
4, 4 [Option 1D = 3195)
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[Question ID = 800][Question Description = G100_Kannada_Set1_C]
1. 1 [Qption 1D = 3197]
2, 2 [Option 1D = 3198)
3. 3 [Option 1D = 3199]
4. 4 [Option ID = 3200]

Topic:- GP10_D2_SH1_SETZ_A

1} Study the aiven table carefully and answer the question that follow
In the given table, students enrollment for five different courses in 5 different years are given.

Hote: The number in the brackets give the maximum number of seats in each course.

Courses
BTech (60} [ MCA (600 | MTech (30) | MPhil (20} [ Integrated MTech (30)
2016 45 52 25 16 26
2017 55 56 26 18 4
2018 48 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 7

NI TFT HRETGl Qe Jrerra sitfa ot oftar i o0y g an aew £y ©
farrmrtivider ey 5 firsar ol o i fioe cogenAT S e RrenfifE e e e s #

feooft @ el # gon Jeen gedes agens A afdeera WiE gafd E

TR
aef |t o (60) | meaite (50) | wendme (30) | vy (20) | wEfd waloe (30)
2016 45 52 5 16 26
2017 55 56 ri 18 24
018 A8 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

In which year, was there the highest student enrollment?
forzr aned 3 e Rremsi s zar E 7

[Question ID = 1951][Question Description = $2_qgSNz_PG_GP10_Q01]
1, 2019

[Cption [0 = 7801]
1. 2017

[Cption [0 = 7802]
3. 2020

[Cption [0 = 7803]
4, 2016

[Cption [0 = 7804]

2) Study the given table carefully and answer the guesticn that follow
In the given table, students enrollment far five different courses in 5 different years are given.

Mote: The number in the brackets give the maximum number of seats in each course.

Courses
BTech MCA MTech MPhil Integrated MTech
(60) (60} {30) (20} (30)
20165 45 52 25 16 26
2017 ES 56 26 18 24
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2018 48 a3 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

RS T ARl Yk sreria SBibe sfi =1k e =/ geq @1 o b
rrafefian mftrs & 5 firea aut & di= fea agerat # awiiea ReofERi @ o o =ro 2
Roouft : ot 3 gom Heen geds g @1 aftrnaar i ooldt

R
ad [ b (B0 enalte (60Nmide (B0WNwifra {20 mAke vade (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
20200 50 46 28 13 27

What is the difference between average vacant seats in BTech and average vacant seats in MTech during 2016-20,

2016 - 20 & Staar . 2w & sfiea Ty 20 o e 3 oitaa Py A1 o iy ofoe Reoen 27

[Questicn ID = 1852][Question Description = 52_qSMz_PG_GP10_Q02]
1. 4.2

[Optien ID = 7805]
B

[Optien |D = 7806]
3. 4.4

[Optien ID = 7807]
4, 4.1

[Optien ID = 7808]

3) Study the given table carefully and answer the guestion that fallow
Ih the given table, students enrollment for five different courses in 5 different years are given.

Note! The number in the brackets give the maximum number of seats in each course.

Courses
BTach MCA MTech MPhil Integrated MTech
(60) (60} {30) (20} (30)
2016 45 52 25 16 26G
2017 55 56 26 18 243
2018 48 43 21 14 25
2019 53 40 23 15 23
2020 50 46 28 13 27

mferest @ Armensil gde sewrer Sl iz @k e s ges o gz Ao
Farmfofian mfors & 5 fiom oal & aiT e avpaeral 3 sosifier Renf2Ri o faar B e 3
feoaoft : wrssl & gen HeERy g g O salfeener HE sef

T
ad kit 2w (60 (60 miow (30wt {20)|aafen mem (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
z020] 50 46 28 13 27

Which year has highest number of vacant seats?
R o 3 T it o6t d=n aftman 2 7

[Question ID = 1953][Question Description = 52_q5Mz_PG_GP10_Q03]
1, 2019

[Option 1D = 7809]
2, 2020

[Option 1D = 7810]
3, 2018

[Option ID = 7811]
4, 2017

[Option ID = 7812]

4) Study the given table carefully and answer the question that follow
In the given table, students enrollment for five different courses in 5 different years are given,

Mote: The number in the brackets give the maximum number of seats in each course,

prepp
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Coursas
BTeach MCA MTech MPhil Integrated MTech
(60) (60) {30) (20) (20)
2015 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2014 53 40 23 15 23
2020 50 46 28 13 27

T wr ATt ge stere it sz ok Re o grer o g dfsm
Bl aftem # 5 Hieor ot & oi=r Firser aogerTsat & ool Reafi o e Reo wra &
fecooft @ esresenl & gew Hxy grdtes areereH &1 adleeor HRE sakh §

TR
ad kit 2 (60wt (60 miaw (30wt {20)|aafea mem (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 53 40 23 15 23
2020] 50 46 28 13 27

Which course has minimum number of total vacant seats during 2016 to 20207
2016 A 2020 a5 gram forn el ¥ a5 Frvs 15 6t de samam B 7

[Question ID = 1954][Question Description = 52_gSNz_PG_GP10_0Q04]
1. B.Tech/dtam

[Option 1D = 7813]
2, MCA/mELAE

[Cption 1D = 7314]
i, M. Tech/mrim

[Option D = 7315]
4, M Phil /e

[Option D = 7814]

5) Study the given table carefully and answer the questien that follow
In the given table, students enrallment for five different courses in 5 different years are given.

Mote: The number in the brackets give the maximum number of seats in each course.

Courses
BTech MCA MTech MPhil Integrated MTech
(60} (50} {30]) (20} (30}
2016 45 52 25 16 26
2017 55 56 26 ig 24
2018 48 43 21 14 25
2019 53 40 23 15 23
2020 50 a6 28 13 27

ARt Wi Aot gyl artrTer dhifery sifte ofikl i =10 gser w1 ave difsm |
EraRiRan afrer ®# § Feo aat 3 oig fiee ogaagt 3 onaiisa Reof#Et or Reeor o oro 2
Roooft : et 3 gom Hwen gris g @1 aftrenaar i ooldt

TR
anet lm.i_‘as{ﬁﬂ}]w.ﬂm (60mes (30)mfsa {20)wafon wmiw (30)
2016 45 52 25 16 26
2017 55 56 26 18 24
2018 48 43 21 14 25
2019 532 40 22 15 23
20200 50 46 28 13 27

What is the difference between average enrollment in 2016 and average enroliment in 20177
2016 3 zirewr adwe o 2017 & s oo S da mr s o E 7

[Question ID = 1955][Question Description = $2_qgSNz_PG_GP10_Q05]
1, 3.0

[Cption [0 = 7817]
2, 3.3

[Cption [0 = 781E]
3. 3.4

[Cption [0 = 7819]
4, 3.2

[Cption [0 = 7820]

prepp
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Topic:- GP10_D2_SH1_SET2_B Your Personal Exams Guide

1) Who among the following is the national coordinator for engineering courses to be launched on SWAYAM platform?
e corewnd oy s By s0d e gl e ety wamans e E Y

[Question ID = 1956][Question Description = 52_gSNz_PG_GP10_0Q06]
1. AICTE v 3

[Cption I = 7B21]
2. MCERT/n= =t € am 7

[Cption D = 7822]
3. MPTEL/wadt @t § w1

[Cption [0 = 7B23]
4. UGC 7=t 3t

[Option D = 7824]

2) What is the name of the software application that facilitates building an early accessible bookmark warehouse that becomes searchable to members or
the public?

T FATTCARTE WeIgieT 7571 AT ol T & Sl PoTd uid O gRinRiee-aosrele e 3 aEren § i ot ol suar e @@l BT dener S0 #@ol e & ?

[Question ID = 1957][Question Description = 52_qgS5Nz_PRG_GP10_Q07]
1. Social Bookrmarking! swnfes gemsfies

[Optien |0 = 7825)
2. Database Management System /s yism gooct

[Option ID = 7826]
3. Enterprise Resource Planningfz=m FEwer Helks

[Option |0 = 7B27]
4, Reference Management Tool, Fesf qrem JoEmmr

[Optien |D = 7828]

3) Given below are two statements

Statement I:  Reliability refers to whether a test measures what it says it measures.

Statement Il: Validity refers to whether a test consistently yields the same ar similar scores.

In light of the above statements, choose the most appropriate answer from the options given below
iy 2 eserm [y w1o § ¢

wem - | 1 Frcasmitrn o wem vw 30 § s oo o6 ocflgron e e o o R & ST O avser § B am mnovr 3
averd - 11 1 Her oe wese sw ol § fr oo oo aflsmn wEwm wa ol ar meea werE S

FOPE aeersl O anedes 3, SR oo sy feeedi # @ aedy vouws T o o Bl

[Question ID = 1958][Question Description = 52_gSNz_PG_GP10_0Q08]
1. Both Statement | and Statement | are correct/mrem | dk 1] S =@t &

[Cption (D = 7329]
2. Both Statement | and Statement |l are incorrect fovem | i 1| St w8

[Option 1D = 7830]
3. Statement I is correct but Statement |l is incorrect/orm | Tt &, Rveg o |1 = &

[Option 1D = 7831]
4, Statement | is incorrect but Statement |1 is correct/arm | =iewy &, Fmy wom 1w &

[Option 1D = 7832]

4) Metacogniticn comprises which of the fellowing skills?
A. Planning

B. Developing

C. Monitoring

D. Costing

E. Evaluation

Choose the correct answer from the options given below:
TraieiRaa d 3 wia - @ite 7 wier afteisna # onBa 7

A, foriraer avean

B. Broer oo

C. uiwitzrn owen

D. mert Gedeon e

E. Frrmer oo

g g oy Reredl # 3 w3t o7 o o i

[Question ID = 19539][Question Description = 52_g5Nz_ PG_GP10_Q0%]
1. A, Band € only/d=m A, B oz

[Cption I = 7833]
2. A, Cand E only/drrT &, Callz E

[Cption I = 7834]
3. B, Dand Econly/d=m B, Doz E

[Cption I = 7835]
4. A, Dand E only/d=rT &, Dz E

[Cption [0 = 7B36]
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3) Match List | with List I Your Personal Exams Guide
Lisk 1 List 11

Learning Strategy Mction taken

4. Planning and focusing attention I. Creating example

B. Organising and remembering Il. Self-guestioning and self-testing

IC. Comprahansion lll. Setting goal and timetables

I, Cognitive moitoring I¥. Using mnemenics, imagery

Choose the correct answer from the options given below:

b R B o s v [ e e i ) 11

g@ﬂ -l q\_ift -1l

(st yorfifn) b1 ;1 avrfard)

LR Tn | s | Sl el e |. ITTEEOT WIS

B. st aiie sAav awsn (. s e @ wnH ol
I, drers hll,aﬁuammmﬁﬁmﬂ:m
Y. FTCATHT IV, T o ghirEeit T gEieT

after fey vy Rrpedt 3 1 ol o oftng ;

[Question ID = 1960][Question Description = 52_qgSNz_PG_GP10_Q10]
1. A-1,B-I,C-Il,D-I¥

[Optien ID = 7837]
2, AN, BN, C-IV, DAl

[Optien ID = 7838]
3 A, B-V,C-,D-

[Optien ID = 7839]
4 AV, B-l,CHl,D-N

[Optien ID = 7840]

6) The kind of sample that is simply available to the researcher by virtue of its accessibility, is known as
gitraas @5 39 g @t fien wa 3 oien Rw & oil ARy 26l uga o AT gt @t suerelr & -

[Question ID = 1961][Question Description = 52_gSNz_PG_GP10_Q11]
1. Quota sampling S 16 Qe

[Cption I = 7841]
2. Snowball sampling / Feiwie giEre

[Cption |D = 7842]
3. Convenience sampling/ JHeEERs giRERE

[Cption I = 7843]
4, ‘Web sampling /&3 g

[Dption [0 = 7844]

7)1 Which amoang the following is the names for validity whereby researcher uses a future criterion measure, rather than a contemporary one?
A e o5 foro Temfddion 3 21 o oo & Bads oo oo sitemral Feesiclim s0mes mig 95 TR OF sl s g e gRiE o § 7

[Question ID = 1962][Question Description = 52_gSNz_PG_GP10_0Q12]
1. Convergent validity/ st e

[Option D = 7845]
2, Predictive validity faitreregrr &em

[Option |0 = 7346]
3. Construct validity =z Sum

[Option 1D = 7847]
4, Concurrent validity /et e

[Cption |0 = 7348]

8) Given below are two statements

Statement I; If we are interested in the worldview of members of a certain social greup, a qualitative research strategy that is sensitive to how
participants interpret

their social world may be preferable.

Statement II: If a researcher is interested in a topic on which little or no research has been done in the past, quantitative research may be easy to
employ because

there is little prior literature from which te draw leads,
In light of the above statements, choose the most appropriate answer from the options given below

S pem R am & ¢

e - | 1 Al & ol Aapntae s & Rea citemn 3 =Rk 1 £, o U sy often it sifooesr 1 wesdl § sl I Bl & el aontier gfern @ sarem O
gitr #idst gt

et - |1 @ =l fipeht siterraf &t =Ry 33 Ao 3 & Braae srila i ags oo a1 awd sty ot gan &, o Apraes onter ooven il Fere 2on gl e agn oa gd mifdca 2en
R wEre Ber 16

TR Temll @ delee #, R e s fRepedi # 31 793 WD 3 1 Gk

[Question ID = 1963][Question Description = 52_q5Mz_PG_GP10_Q13]
1, Both Statement | and Statement |l are correct/mem | diz [ @t okt &

[Cption |0 = 7349]
2. Both Statement | and Statement |l are incorrect fovem | i 1| St s &

[Cption |0 = 7850]
3. Statement | is correct but Statement || is incorrect/orm | ot &, Rveg o || =wewr &
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[Option D = 7851]
4, Staternent | s incorrect but Statement |1 is carrectyasen | stenr 3, By ae 1] 200 3

Your Personal Exams Guide

[Optien ID = 7852]

9) Match List | with List Il

List 1 List Il

Research Design Type of study

. Sampling design I. Pre-planned design for analysis

B. Statistical design I, Structured or well thought out instruments for collection of data
. Observational design [III, Advanced decisions about eperational procedures

. Operational design I¥. Probability sampling design

Choose the correct answet from the options given below:

et - | 2 et -1l B g i

et -l et -1l
(2dits Fumsan) (FETTTTET €T (T)

W, orferer R |, Riocmor 5 feny g Belfm Ress

B, mifiradit o 1. st YT o JgaieeT o gienteT o
C. fprvr R I, vEnewr wgft & seer i s Rk

0. CEIEn e IV, FivrenT Offers e

after fey vy Reedt 3 1 ot o oftng ;

[Question ID = 1964][Question Description = 52_gSNz_PG_GP10_Q14]
1. A-IV,B-1,C-Il,D-I

[Option ID = 7853]
2. A-1, BN, C-IV, D-I

[Option ID = 7854]
3.0 AN, BN, C-1,D-V

[Optien |D = 7855]
4. A-lL,B-IW,C-l,D-l

[Optien ID = 7856]

10} Given below are two statements

Statement I:  In the "before-and-after without control’ design, a single test group or area is selected and the dependent variable is measured before the
introduction of the treatment.

Statement Il: In the ‘before-and-after with control' design, two areas are selected but the dependent variable is not measured in both the areas for an
identical time-period before the

treatment,
In light of the above statements, choose the most apprepriate answer from the options given below
ol 3§t erar 3w o ¥ ¢
e - | ¢ ok & Be gd - @i - vuw Beose #, = oo oiter w8 o oae B @i § i goae & e ds A ol Bl o oo aoe Roen s
e - || ¢ Rrkym o wre g - diw - ouwy Base #, €S Ol o auw fom sww € oy soar @ o, e & vl A oo 3w il © e Bekz aw o aos et Been awo
FURNT TrE @ et 3, di Ry ore Rroeal # 3 W suer e o o St

[Question ID = 1965][Question Description = 52_g5Nz_PG_GP10_0Q15]
1. Both 3tatement | and Statement || are correct/avwem | 7 |1 S weEt &

[Option I = FB5TF]
2. Both 5tatement | and Statement |l are incorrect fasemr | & 1| Saf som &

[Option D = 7B5E]
3. Statement | is correct but Statement | is incorrect/owm | 39 &, By ovam || #om 2

[Cption |0 = 7B59]
4. Statement I is incorrect but Statement |l is correct/arem | =ier €, Foeg wem | = 2

[Cption [0 = 7BE0]

11} According to communicaticn research findings, some amount of gossip is necessary for
wxaor oiver el & agrarz, Frrafafian 8 fara @5 fry 2 e sma - ong smageres & 7

[Question ID = 1966][Question Description = 52_gSNz_PG_GP10_0Q16]
1. Pro-social motivation /@ - gl w0

[Option |0 = 7361]
1. Prevention of distortion/Fegir fGrmem

[Option D = 7362]
3, Extending communication range /s i oi BemiEy oo

[Cption ID = 73A2]
4, Relpcation of emotional affiliations/ stemreen Dememal o0 oo su=w

[Option D = 7864]

12} Which of the fellowing are important in intercultural communication?
A. Valuelessness

B. Absence of respect

C. Power distance

D. Individualism

E. Gender roles
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Choase the correct answer from the options given below:

Moer: - ARk Fguor # Brattfisa # 3 oo - Do aecagef E @

A, yeedleray

B. wwarm &Y argaterfi

C. aftresrdl & wewr gfvwrd

D. walvraE

E. &iffrer sfdeeg

=i fow sre fResedi & A 716 w1 @ e Bifem

[Question ID = 1967 ][Question Description = 52_q5Mz_PG_GP10_Q17]
1, A, Band C onlyfdrmr &, Baflz C

[Cption ID = 73A5]
2. B, Cand O only/grer B, Cafe D

[Option D = 7866]
3. C, Dand E onlyfawmr €, D afiz E

[Cption ID = 7367]
4, A, Band Eonly/greT &, Baflz E

[Option ID = 7868]

13} Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Smiles and laughter should be avoided when messages are serious,

Reason R:  Mon-verbal cues are always contextual like verbal communication

In light of the above statements, choose the correct answer from the options given below

offsl €t wom @w omr 2 | Wi arfinmemr (Assertion A) o wa # affz g 3o @t (Reason R) @ wa 3

ufirsert (A) @ s woder snblz i, M AT 9 EHt ARy sART A adgen aifée
ot (R) @ 31z - ynitcr Fid enfdcas - Fgum & e wen gEenddle o E
o el 4 2o, o Ry ool Al ue w1 e it ¢

[Question ID = 1968][Question Description = 52_gSNz_PG_GP10_Q18]
1. Both A and R are true and R is the comrect explanation of AS (A} iz (R) el arr & &ix (R), (A) &5t =58 soren 8§

[Option |0 = 7E69]
2. Both A and R are true but R 15 MOT the correct explanation of Af (A} &3 (R) 2l =01 & 0wy (R}, (A) 99 ¥5 ==y oy 2

[Cption D = 7870]
3. Ads true but R is false/ (A} 7w B, urag (R) sy &

[Cption D = 7871]
4, Ais false but R is true/{a} sxmr &, g (R) Arg &

[Cption D = 7872]

14} Identify the sequence of human communication skills.
A. Public speaking

B. Group interaction

€. Relationship

D. Feed forward

E. Self - presentation

Choose the correct answer from the aptions given below
AR JFEIT - Hield @ & Ol UedE Hifae ;

A. ISR WTaoT

B. 78F T R

C. Fd

D, iz wrad

E. == gzgfa

o<l fom o1 Rmmeal # 21 w7t ome o o= Wi

[Questicn ID = 1969][Question Description = 52_qSMz_PG_GP10_Q1%]
1. B, D, E, C, A

[Optien ID = 7873]
2. A, C,D,B,E

[Optien ID = 7874]
3. C,E A DB

[Optien ID = 7875]
4, E, C, B AD

[Optien ID = 7876]

15} Match List | with List I

List | List Il

Cammunication barriers [Examples

4. Psychological 1. Use of technical language

B. Organisaticnal Il. Poor retention

prepp
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. Persanal 1ll. Functional specialisation .
. 3emantic V. Fear of challenge to authority Your Personql Edes GUIde

Choose the correct answet from the options given below;

et - | 2 et -1l R i

gt -1 st -l
(T[S} (et r=el]

i, e |, Frameite ser avr EieT

B. miemims Il frm gfivtman (gar Fréem)
. dmfamn e g —

. grezasf IV, giifrer o6 geivit o 3=

after fey vy Reedt 3 31 et o gftng ;

[Questicn ID = 1870][Question Description = 52_qSMz_PG_GP10_Q20]
1. A-1,B-I1,C-II,D-I¥

[Option ID = 7877]
2o &N BRI C I, B

[Optien ID = 7878]
3. A-IL,B-v,C-l,D-I

[Optien |D = 7879]
i KAV B 2l o D

[Optien ID = 7830]

16} What number should replace the guestion mark?
7, 8,9, 10, 12, 14, 16, 20, 1, 28, ?
o FeE @ wia 71 Fieer QR ol ?

7, 8,9, 10, 12, 14, 16, 20, 21, 28, ?

[Question ID = 1971][Question Description = 52_gSNz_PG_GP10_0Q21]
1. 27

[Cption [0 = 78E1]
1. 3%

[Cption [0 = 7852]
3032

[Cption [0 = 7883]
4, 29

[Cption D = 7834]

17} X 15 as much younger to Y as he is alder to Z. If the sum of the ages of ¥ and Z is 36 years. What is the age of X7
YaXsme oo ZAdaws aR YdfcZBl o emrdarr 36 ad g, ar X Brargy o 7

[Question ID = 1972][Question Description = 52_q5Mz_PG_GP10_Q22]
1. 16 Years/16 aof

[Cption |0 = 7885]
2. 15 Years/15 od

[Cption |0 = 7388]
3, 18 Years/18 of

[Option D = 7887]
4, 20 Years!20 o

[Option |0 = 7388]

18} Two persens are walking in the same direction at rates 3 km/hr and & km/hr. A train comes running from behind and passes them in 9 and 10 seconds
respectively. The speed of the train is

dehrerffRwAS ./ RivofpR /mSialr Ao R E oo Ioend o dig J ol ¥ 3z oo aer & 9 & 10 3dds 3 oee anh & Yoedt &t s & ¢

[Question ID = 1973][Question Description = $2_qSNz_PG_GP10_Q23]
1. 33 kmihrf33 el dex

[Cption D= 7839]
2. 22 km/hri22 fieatt/ e

[Cption [0 = 7890]
3. 44 km/hr/d4 fmaft. / g

[Cption D= 7891]
4. 35 km/hri35 fipaft. / g

[Cption D = 7B92]

19} Given below are two statements

Statement I: Between 4 and 5, the minute hand and hour hand of a clock coincide at 20 minutes past 4.
Statement I1: Between 4 and 5, the minute hand and hour hand of a clock are at a right angle at 40 minutes past 4.
In light of the abave statements, choose the correct answer from the options given below

o1 3t e few e 2 :

o] - | 1 4 917 § @ dl|, g g€l B e sl 9t ach g 4 99 o7 20 Bere uz o w3y St §
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reret - 11 2 4 sz 5 o dia o @t ot Bew sl @tach g 4 e oz 40 Bere @ st oz geh §
FOERD el @ andre #, ¢ B o Broeal # 3 =it oor o age b

[Question ID = 1974][Question Description = 52_gSNz_PG_GP10_0Q24]
1. Both Statement | and Statement Il are truefmem | || S = &

[Cption [0 = 7893]

2. Both Statement | and Statement || are false/wem | afiz |1 SEF aem &

[Dption I = 7894]

3. Statement | §5 true but Statement 1| is false/wem | e & , Ko e | s &

[Dption [0 = 7895]

4. Staternent | is false but Statement |l is true/wem | apwe &, frey oo || ma &

[Cption [0 = 7B96]

20} Which of the following statements are TRUE?

A, If A's salary is 20% meore than B, then B's salary is 209 less than A.

B. By selling 28 pens, a man gains the selling price of 4 pens. The gain is 15%.

C. The average of N consecutive natural numbers starting from 1 is w;}.

Choaose the correct answer from the options given below

FafafE suAl e fTar Fifsm
A TfEATTdaT B T 20% AfiF &, A B BT daT A H 20 % FHEI
B. 28 U o9 & U 7Gd 4 U &[9! Sma & guar oy ofSla oear 81 ary 15% 1

C. 19 SRY P N T UIpa T3 T Sfe [N;” 21

19 &0 0 GFe § 1 I8 98 &1 90 S

[Question ID = 1975][Question Description = $2_qgSNz_PG_GP10_Q25]

1.

A and C only fdwe A oz C
[Option |0 = 7E97)

2. Band C only /e B sfiz C

[Optien ID = 7898]

3. Aand Bonlyfdrm A Hiz B

[Optien ID = 7899]

4, € only /@ C

[Optien ID = 7900]

21} Match List | with List I

List |

List 1

Proposition in Sqguare of Opposition |Resultant Proposition

A, I "A'is Troe I. °I" is false; "0 is True

B. If 'E'is True 1. 'E' is false; ‘A" is undetermined
IC. If T 15 True IIl. 'E' and T is undetermined

D If 'O is True IV, 'E' i false; 1 is True

Choose the correct answer from the options given below:

it - | o gt 1] g e ot

gt -1 et -1l
(FRier = 3 e anomr) (P rraf ara)

A, = AT T R 71" s A, O e

B. =ufe A" e & Il. "E* zrrem &; A asfdudfor &
IC. o "A” T 1. "E" #iz 1" arfceifsr ¥

D. =t ‘A T v, 'E srmar iy Tava &

after fey vy Rreedt 3 1 ot o oftng ;

[Questicn ID = 1876][Question Description = 52_qSMz_PG_GP10_Q26]
1. A-1,B-Il,C-Il,D-I¥

2

[Optien ID = 7901]
AL, B-l,C-Il, DAV

[Optien ID = 7902]

oA, B-N,C-1, DIV

[Optien ID = 7903]

4, AV, B-1,CH, D

[Optien ID = 7904]

prepp
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22) When a middle term does not go further than producing a state of mental oscillation between two opposite views, the case is of

o v i o Frodtr sRomivil o dia soefie Siaer o5 Rl soues w6 @ anet wdt swn E, o 3 Reeitiian o e §

[Question ID = 1977][Question Description = $2_qgSNz_PG_GP10_Q27]

1.

Fallacy of Viruddha /Rorg @ oot S
[Cption |D = 7905]
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2

3

4

. Fallacy of Prakaransarma iz o oed o

[Gption 1D = 7904]
. Fallacy of Asiddha/=feg o med B

[Cption |0 = 7907]
. Fallacy of Savyabbichara farcedirary wa vef 2t

[Option ID = 7908]

Your Personal Exams Guide

23} The Fallacy committed in the argument

"All textbooks are books intended for careful study, Some reference books are books intended for careful study, Therefore, some reference hooks are

textbooks." is

foremfaifian Ao I =iear o oM 2

"asfl v Qe waeneiigde seerrm B afhln gy § e e graes D3l greds ¥ sit snasfigdes s 2 afingn geads B o @ deol gead argwgeads ¥
[Question ID = 1978][Question Description = 52_gSNz_PG_GP10_028]

1.

Ilicit Major /e e
[Cption 1D = 7909]

2. licit Minor farfer ost

[Option 1D = 7910]

3. Fallacy of four Terms/ @z o5i ow e Sim

[Option 1D = 7911]

4, Undistributed middle/ afnumfin 3w

[Option 1D = 7912]

24} In an illustration of inference that the 'Sun moves, like ether moving ehjects its position changes' represents
‘it =ilkrelia 8, Rl o siferelter aaeg 6t wifer secht smatret ufiafin 2t 2 ' s @ 3 e Rram gkt s 2 7
[Question ID = 1979][Question Description = 52_q5Mz_PG_GP10_Q29]

1

. Pirvavat Anumana /oo

[Option ID = 7913]
. Sesavat Anurmana/ Sy

[Cption |0 = 7914]
. Samanvatodrstafamiseriee

[Cption ID = 7915]
. Pakshta fusion

[Option ID = 7916]

25} Pick the incorrect statement

FTETe WU @it gien |

[Question ID = 1980][Question Description = 52_qgS5Nz_PG_GP10_Q30]
1.

Truth' and 'Falsewoad' may be predicated of propositions but never of argumentsManey’ afie 'areca’ cefaneg oF ffiou 2 20 E geeg, od oF aeifl a8

[Optien ID = 7917]

2. In the case of deductive arsument, the technical terms correct’ and ‘incorrect’ are used ) REHFAFATE FR6 & Fe 5 FE0 JfT FIe asaties! oS 26 queT @ 8

[Optien ID = 7918]

3. Inductive arguments are neither valid not invalid but evaluated as better or worse/ ARWHENE FRE & o 3§08 5 i of & Ay Sower Fraiew e I #ee O =0 3 Been = &

[Optien ID = 7919]

4, The conclusion of a deductive argument follows from L5 premises necessanly/ EmarREe fws 95 e aferneda: ot e 3 Brsom 3

[Optien 1D = 7920]

26} What is Phishing?

Tt o= & -

[Question ID = 1981][Question Description = $2_qgSNz_PG_GP10_Q31]
1.

Sending data to a hacker /0=t 1 #57 TE Seen
[Cption D = 79H]

2. Some-ghe sends legitimate-looking emails to users,/ T =ifr qEirRmHt o e orfir S5t ot &3 fern £

[Dption [0 = 7922]

3. Search automatically for an item on the internet/soee &= Frall a & =ebiET rems

[Dption [0 = 7923]

4, Checking the spelling of websites/dmaEc] 97 i St

1.

[Cption [0 = 7924]

27} Given below are two statements

Statement I If the sensor data is outside the acceptable range, then the microprocessor/computer will take action.

Statement I1: Sensors in the control application only send data to the microprocessorfcomputer when something happens.

In light of the abave statements, choose the correct answer from the options given below

i 3t e e o 2 :

e - | 1 Al Hae aie: =i =3 e 3, @ aEml QEEE/ TR TRAaE e

T - || 1 s/ o gfea 8n & Faw fa & Grigm aagaeE #f $az asagEfEs SR B dids S 2
FUERD Dol @ el H, SR R sre Fosedl # A 76 Fae @1 w6 HIRm

[Questicn ID = 1%82][Question Description = 52_qSMz_PG_GP10_Q32]
Both Statement | and Statement |l are truefosee | s || Sl oo &

[Option 1D = 7925)

2. Both Statement | and Statement || are false/aems | ot | ool avecca

[Option ID = 7926]

3. Statement | is true but Staterment || s falsefues | v & | Frosg weoren | srzeem £
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[Cption |0 = 7927]
4, Statement | is false but Statement (1 i3 troefanees | aoaver &, Fiisg oo |1 o

Your Personal Exams Guide

[Option ID = 7928]

28} Which of the following statements are correct?

A, A WLAN is a wide area network

B. A hub sends an incoming data packet to the correct device on a network
C. An IP address is assigned to a device at the manufacturing stage

D. A network Interface card is needed to allow a device to connect to a network
E. Routers inspect data packets received over the internet

Choose the correct answer from the options given below

Breaittiim oeel vz Prow ©ifne ¢

A, FECy UTl O e e ey oy Sieads B

B. dx (za) sndl ady ey Ut @61 Sieasd a7 B2 Rass o formr &

C. ard ol uvn Fafidor gwor 3 & Raga @ foo Rraiiyn R s §

D. Gl Parey o) feaad A s0e0 &5t s o fooy Aeass seobry g ot svargeesnr
E. e oz qin 321 Gal & woes s o §

Forfre eoermt O A wier & werm wt §

[Question ID = 1983][Question Description = 52_q5Mz_PG_GP10_Q33]
1. Aand B only/dwmwer A i B

[Option 1D = 7929]
2, Band Eonly/dmm B e E

[Option 10 = 7930]
3, Dand E only/owmr Dafz E

[Cption 1D = 7931]
4, B, Cand D only/grer B, Cafe D

[Option 1D = 7932]

29} Match List | with List I

List | izt |1

. Input device  [I. Traffic light simulator

B. Output device [l Scanner

IC. Pointing Device fm. Speaker

D Sensar Device  (IY. Trackerball

Choose the correct answer from the options given below:

ot -1 ey Tt -1 B R e o

it -1 gt 1|

A o Bansa | S wirse P
B. smroge s . =iwr

. vamifieg Barss . zeivasy

D. Fes famrs . ¥z e

aftel o o Ferpenl 3 21 208t s offne

[Question ID = 1984][Question Description = 52_q5Mz_PG_GP10_Q34]
1, AL, B-I, C-IV, DAl

[Option 1D = 7932]
20 A4-1,B-0, -V, DN

[Option D = 7934]
30A-I, B, -1V, DAl

[Option ID = 7935]
4, Al B-IV,C-Il, Dl

[Option ID = 7936]

30} What are Firewalls?
ITE el T el & 7

[Question ID = 1%85][Question Description = 52_qSMz_PG_GP10_Q35]
1. Used for address translation in the Network layer/@ew der 3 w2z giadom oF B gedsn §nl &

[Cption |0 = 7937)
2. Used to store the Metwork Interface Cardffieu deadra amd «fF sarsran oF o geit et &

[Cption D = 7938]
3. Used for Metwork congestion control/@emd aibioe aidler of g wits et £

[Option D = 7939)
4. Hardware or software that sits bebween a usetr's computer and an external computergelens o areped dr deeh ofvge of ol o grdlere s i

[Optien ID = 7940]

31) According to the Sustainable Development Report (2020), the top-ranked country on the basis of the SDG Index is
Fxer farom Bt (2020) & ez o= 3t oft Joreias o5 20eR O3 FRiica ST Sor E ¢

[Question ID = 1986][Question Description = 52_g5Nz PG_GP10_0Q36]
1. Bhutan/sem
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[Option D = 7941
2. Mew Zealand/ weplidivs

[Option |0 = 7942]
3. Sweden/wi=w

[Option D = 7943]
4, United Kingdom,/3mees Rt

[Optien |D = 7944]

32) Which one of the following waterborne diseases does not require direct contact with water but a host to spread?
Breaftiiine & & Fen = =t A9 & gae o fae = 2t g so & ol o oo asr (Flee) &t snmereren 2R E

[Question ID = 1987 ][Question Description = 52_gSNz_PG_GP10_Q37]
1. Choleras#an

[Option I = 7945]
2. Malaria/sisn

[Cption I = 7946]
3. Trachoma/Tzoen

[Cption I = 7947]
4, Schistosomiasis/ Rl

[Cption [0 = 794E]

prepp

Your Personal Exams Guide

33} Paris agreement entered into force when the instruments of ratification were deposited by at least 55 countries which accounted for, at least

forvat 9 31 smers Foemor gferer easlior wat o oA 3t wa 55 29l Tra sgrwwels & gy St Es @ e Qe awsitar oo gan ?

[Question ID = 1988][Question Description = 52_gSNz_PG_GP10_0Q38]
1. 50% of global COp emissions /Htwry C0s soemtar o 50 %

[Cption |0 = 7949]
2. 55% of global Ch emissions /#ftmr CO» Foomtar oo 55 %

[Option |0 = 7950]
3. 60% of global CO; emissions /&t COy arzwfm o 60 %

[Option |0 = 7951]
4, 75% of elobal COy emissions /8w CO: wwmim o 75%

[Option 1D = 7952]

34} Biogas has a calorific value of about
ARIFH 1 D aF o=RE e 2

[Question ID = 1989][Question Description = 52_q5Mz_PG_GP10_Q39]
1. 5000 kecal per cubic meter/5000 frte, gf am ez

[Option ID = 7953]
2, 3000 kcal per cubic meter/3000 fr e, qf o s

[Cption |0 = 7954]
3. 2500 keal per cubic meter/2500 Redon offs ao Ak

[Cption |0 = 7955]
4. 1800 keal per cubic meter/ 1800 By ofts sm Az

[Option ID = 7956]

35} Under which of the following agreements was it decided to limit the increase in global average temperature to well below 2°C?
BrafiEna & 31 Roa swio o aefior $fas s aoaa 3 g o 2° C 3 onbt siiD Hilm e o ol G omm o 7

[Question ID = 19920][Question Description = 52_qSMz_PG_GP10_Q40]
1. Paris Agreement /by 2ot

[Option D = 7957)
2. Kyoto Pratocol foeiet ghiag

[Option ID = 7958]
3. Montreal Protocol fmifdeer Qe

[Option |0 = 7959]
4, Rio Summits Tl Ber s

[Optien 1D = 7960]

36} Match List | with List I

List | List Il

A, State with the highest number of universities |l SikKim

B. State with the lowest number of universities  [Il. Rajasthan
. State with the highest GER in higher education [lIl. Bikar
[r. State with the lowest GER in higher education (V. Mizoram

Choose the correct answer from the options given below:

adl - ot 3dt -l 9yt B

el <1 et -1l

. PrafPEnerl @1 iR HEE W T |. fafirrs
B. Freferarreral oot Foores HTeTm e 3mEr M. 3mmam
1. Teax faram F FeanTH AT A T ill.ﬁnm
. Iz fRrem 3 Boorm St awn we 1Y, Rt

after fey vy Reedt 3 1 ot o oftng ;

[Question ID = 1991][Question Description = $2_qgSNz_PG_GP10_Q41]
1, A-1,B-I1,C-I¥,D-N
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[Option |0 = 7961] | "
2. A, B-I¥,C-ll,D-l Your Personal Exams Guide

[Optien ID = 7962]
3. AN, B-V,C-,D-

[Optien ID = 7963]
4 A-l,B-W,C-l,D-N

[Optien ID = 7964]

37) The oldest university in India was:
T # Fa gaen RAralienee oter 7 ar ?

[Question ID = 1992][Question Description = 52_gSNz_PG_GP10_042]
1. Walanda/ =t

[Cption I = 7965]
2. Talshashila/mefiem

[Cption I = 7966]
3. Vikramshila/ Promfen

[Cption I = 7967]
4, Mithila/Bfer

[Cption [0 = 796E]

38) Central Universities are:

A. established by the UGC

B. established by an act of the Parliament

C. established by the Department of Education, Government of India
D. funded by the Central government

E. Funded by the 'Niti Ayog'

Choose the correct answer from the options given below:
e RrafEncr -

A, 31 o 3ft Zrr Fenfti Row o §

B, dam @ wr At prr wahia e o E

C. arsT FaeTs o e Fore mra sonfte Row o B

D, @i AT g fm Ot & E

E. 'Sitfy arediter Zre fm diftsm &y &

ol v o17 Rroedl # & St 392 o1 owe oI

[Question ID = 1993 ][Question Description = 52_gSNz_PG_GP10_Q43]
1. Aand D only /e A iz D

[Option |0 = 7969]
2. Cand E only/fdwe C afiz E

[Option ID = 7970
3. Band D only/fdwre B sz D

[Option ID = 7971]
4, BandE only/dwae B sz E

[Cption D = 7972]

39) Gross Enrolment Ratio (GER) in higher education calculated as:
o faign A wee waies sgar (SiFany) &1 sown g &t et § :

[Question ID = 1994][Question Description = 52_gSNz_PG_GP10_0Q44]
Number of enrolments in higher education / 3= frey o i ) S

Total population in the age group of 18— 23 <100 18 — 23 & Y JHg H paA14eT B

[Option 1D = 7973] _ )
Number of enrolments in higher education I {9180 H AT ol e

Total population in the age group of 16—23 Jf13 — 23 % AR § T TS

[Dption D = 7974]
3.
Number of enrclments in higher education in the age group 18—23 18 — 23 m%@ﬂ'ﬁﬁfﬁf&n e o S

Total population in the age group of 16—23 / 18 — 23%}3@%13@61@@1

[Option 1D = 7975]
Number of enrolments in higher education in the age group 18—23 %100 / 18 — 23 % g gHg H = e o Aie= &1 e

Total population in the age group of 18— 23 18 — 23 & 3 I ¥ o o9l %100

4,

[Dption [0 = 7976]

40} Choice-based credit system of index graduate level includes:
A. Core Course

B. Elective Course
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C. Ability Enhancement Course Your Personal EdeS Guide

D. Environment Education Course

E. English Communication Course

Choose the correct answer from the options given below:

3IErE ForeE T OF wraw sneniya o fegonedt (s &t #Hl ow) 3 Boofafan onfie 2
A. W (o) e

B. Mo o

C. drar wacta ol

D. gai=zor fran B

E. 3iE)sh Fdum st

i féw sre fRresedi & A 716 w1 @ e Bt

[Question ID = 1995][Question Description = 52_q5Mz_PG_GP10_Q45]
1, A, B and C only/grer A, B afiz C

[Option 1D = 7977]
2, B, Cand D only/grmr B, C afz D

[Option ID = 7978]
3, €, DandE only/dme €, D ain E

[Cption |0 = 7979]
4. A, Band E anly/die A, B aliz E

[Option |0 = 7980]

Topic:- GP10_D2_SH1_SETZ_C

1) Read the given passage carefully and answer the fellowing question.

Two factors have mainly caused the present disastrous conditions and events, One is the change in rainfall pattern resulting from climate change, The
monsoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the seil in the
plains and the hills ang for many manmade structures to withstand the impact. The high altitude areas aleng the Western Ghats have been especially
vulnerable, because of encreachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourfsm without checks and regulations and diminution of biodiversity. All these have separately and
callectively contributed to the present sifuation in the Western Ghats region which is ecolegically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environmeant has come to suffer the most.

The report of the Madhay Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water dewn its praposals. The
recommendations of the Kasturirangan Committee were also not implemented, Gadegil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastation caused by them now may only be
intimations of bigeer calamities lyving in wait in future. Lives which are lost now will net be regained, and nature which is last will take

several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.

ol e 717 areriy! w6l SeeIgRits OapT JH MR U2 g 910 g T 3ns e !

actamet Ry fraf g aoon o gEwr: 3 e oo § swarg abvada © worasa ol e & afvwia aeegm saasr ofsalin 8 e § b e Bl # a9 acht aof sm oo
Feat = 15t 3 & & 9l 2 wasasy gl ofi ol Al A D ot e amer Bl =R saret guE oA ot T U & uedl a9 ara & aftne sard O 8e, afr,
ait 4 Riea, merd Alte wwow, A afiewt o R, it T s ais eEit St e, ARRRE a aikbn wies S aRiftRt @ sorer a da R & ox A9,
anfe & e, sieafRis Tdssolten ¥ A we e - e ST afte wa A ool are i, S aifafiebt offe 3 sraftes 598 i goeras §, 6 ol faly 55 B ol
3 uftel o w o g, R Wik & aaifiee aifa B 8, 33 & mafter e £ 8

AeE sk wfak of el e gerfa 9 fRemer o1 T e 3 i Db @ gferer @ R o aaeiam & 2 wm At &t (o @ 7281 o6 el # s B ewEn afie
SIS IRl O st Teet o T 3 o oeidere A araenn # o aea Al ofdn o & o aeegdtierar Attt Bt arguionai w At wrdian ol B sren susBrr & 2013
#A &t sifaey & Rro Troesht €1 ol By 2 achl gradt o) o 9o srdl ave dvae ons - aie ad § oFE A aeenr  grepfies woed i yords weTer BRI sl fasinet s eI wifds
#1 wdt srrasTalt ot e ang @ swer ot anfer B e o 2wt 2 otz genfer ot wew 4 gefiiaior 3 Hwst el eetet awd 7 gt e & Ry e O wen Remge ol st
oA &

Man-made structures are unable to withstand the rain impact due to
A [t sid aaf @ gua asm @@ o o § axilis :

[Question ID = 1926][Question Description = 52_gSNz_PG_GP10_046]
1. The steepness of high altitude areas/Hifter Famd TR 457 01 ©F JFEiEEs 2T 8

[Cption |0 = 7981]
1. Change in monsoon behaviour in recent times 3 7 FEw 3 Aergs waar # it gr

[Cption |0 = 7982]
3. Mon-stop rains over a longer period/stinr ol 4aii /s el Seft £

[Cption |0 = 7982]
4, Soil accumulation in the plains/d=mE &ejt # B e 2 &

[Option | = 7984]

2) Read the given passage carefully and answer the fellowing question.

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
monsoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the scil in the
plains and the hills and for many manmade structures to withstand the impact. The high altitude areas aleng the Western Ghats have been especially
vulnerable, because of encreachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
commercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
callectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most,

The report of the Madhav Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensibkle recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal hatural events and the huge devastation caused by them now may only be
intimations of bigger calamities lying fn wait in future. Lives which are lost now will not be regained, and nature which s lost will take
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several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all. Your Personal EX‘ ams Guide

ol e 717 areriy! w6l SeeIgRits OpT JH MRIE U2 g 919 g o7 I e !

ol frorgrsrd Brafi o aewn & yeem: 21 e § oo & sroary aiyadw & worasa gl ted J affedfa srsam coae of el 8 weo € siv s@res BEI o 25 acht aaf am oes
Feat = =5t 3 & & Sl 2 warasy gl ofiz aedede Al D ot s e Bl =R saret gy oA ot T U & uedl g O ara & aftne sard O 8e, afr,
aoit @ Rreds, sRM i o, aea abivwed oy Bofo, el a e ot et St Feraen, aiEifip o abaicn wica A9 aRfatei @ sooe a o falam & ox 8o,
anfe & eora, sraiRrs Fdseelel § A e rere - e ST e wa A aitel ar g, s aifrafiebly efte @ sraftie #5380 s grram §, 6t ovdars fralfy 95 o saerl
& ult o w oo A, FBrast oafaeor B mEiitee afn & &, 33 & awlftes o g &

Fner wsRre Aty 3 ofinl ae oo % Remer wr aterTer fien 8 i Rrader oF gfteee o e aedeera orepeiamd @B 2w b O B et w2 o Send 3 s R owm A
SIS IRl O seet Teet O T 3 o oegidere A araenn # v aea Al oifdn o & o aeegdtierar At Bt arguionai w At wEdian ol B sen susBrr & 2013
# &t sty @ fore dmraeit 4 oft B 2m ardl gt @1 o 991 ol aee da aF - ai" ad #@ e I aeArT Y Soad SfiT sen W g4 seaiERp Rieiel d| oiee s
& =t ararai At Fymen ARy B 96wl B s o 8 wwd # o gl m o o gl d ot ad asier et o ot 9 E & oeet @ e Ao Al i
oA &

Which of the following factors have affected the western ghats?
(A} Sensitive bio-diversity

(B} Formation of human settlements

(C) Flara and Fauna of the area

(D} Promation of unchecked tourism

Choose the correct answer from the options given below
Terraaferfian & A fisar ot o1 U2l g ©) o e d ?
A. sreafine FHaeaedta da Rafemr

B, mema afiwl o fersfor

C. &y &t merrakr affz Sita - sig

D, afemifn oedeo o Ioeaa

o<t fow o1 Rrreat # 31wt o ot

[Question ID = 1997][Question Description = 52_qSNz_PG_GP10_Q47]
1. Aand B only S A Sz B

[Option D = 7985)
2. Band C only/fave B #fis C

[Option |0 = 7985]
3, Cand D only/fdwe C afiz

[Option |0 = 7987)
4, B and D only fdwee B sz D

[Optien |D = 7988]

3) Read the given passage carefully and answer the following question.

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
monseon kehavieur has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the sqil in the
plains and the hills and for many manmade structures to withstand the impact, The high altitude areas along the Western Ghats have been especially
vulnerable, because of encroachments, destruction of forests, gquarrying and mining, formaticn of human settlements, setting up of industries and cther
cammercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhay Gadeil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastaticn caused by them now may only be
intimations of bigger calamities lying in wait in future. Lives which are lost now will not be regained, and nature which is lost will take

several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.

o2y Fow g srerior @6 eanmgeles UERET YRS MY 0T O Sy O @ T Sty

ariare farereTi frerf O aean @ AN €1 O § U & Joar dinia © wosawy qdt Geed 3 ufads A casr uimbia 81 =50 § iz a6 Bl # sor aeft aaf am ow
B an g2t 3t & & 'l & worasa Tl 3tz odie 8 # et &fie o e Billa e s gue oo oift o2 o § oBinlt me 4 g &5 aitne el a9y, wieagnu,
ol & feda, @t fiv wemr, A wlived o Boad, seird o scr offes senil St renamn, afifm o afmfim oiea S8 aftdafedl & soeem o Sta Rfemor 9 o 265,
AitE & oE, ACAiRs Hacorefia § 3 719 AT - Aot iz Aanfee wu A uitel e gn, o mbReiEbE ot 3 sraiee H0d i graane 3, ot adae e @ o sl
& uRnh o o oo 715, Bew waimn & waitis gt & §, w9t & aifteo ofe gt §

e[ ssRRT Al o uiind ax oaihaer o Bene o 2 B § i Bath o gftver 9 Ree rlziert ageia & ¥ s Ak it B o 2 5 Aol # O R arn s
FoEs gl W6t 2ol i @ [y 35 @5, weplitiera B asuginy 3 ves s Afily sl o 4 s et A B srmginil @t il eordfion @E fisan srar sosfeeer & 2013
# & witere @ Tty <t St 7 Sor el gradt Y W Yo ol west i i - Oiw ad & a9l ¥ aded QG Scats SiiE Toih T 4 SR Risiel e oNRTG AT
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A particular state in the Western Ghats has suffered the maost because
af2pit me s ver s e o & matiter st o= 52 2 7 aife

[Question ID = 1998][Question Description = 52_qg5Nz_PG_GP10_Q48]
1. It has caused most damage on the environmentSsze wakezo aff arfffros 20F wgarf §

[Cption D = F489)
2. It has most of the biodiversity hotspots of the country/zmi S # Sle ffden ofF aedfee $he adic &

[Cption [0 = 79%(0]
3. The state has many hill stations favw 3t o adefler 200 §

[Cption |0 = 79%1]
4. The state has too many checks and regulations regarding environment s 3 oedoau szl sk Aasalts o §

[Option ID = 7992

4) Read the given passage carefully and answer the following question.
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Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from cli g pﬂg eh ' .
. . ) . e o dPPErsohal Exams Guide
monsoeon kehavieur has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the sail in the

plains and the hills and for many manmade structures to withstand the impact, The high altitude areas along the Western Ghats have been especially

vulnerable, because of encroachments, destruction of forests, gquarrying and mining, formaticn of human settlements, setting up of industries and cther

cammercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and

collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuable. A western ghat State which

has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhay Gadeil Committee which studied the destruction caused to the Western Ghats environment and made sensible recemmendations
to remedy the situation was thrown into the dust bin, and another committee under Dr K Kasturirangan was setup to water down its proposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastaticn caused by them now may only be
intimations of bigger calamities lying in wait in future. Lives which are lost now will not be regained, and nature which is lost will take

several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.
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What is the real tragedy with respect to natural disasters in the Western ghats?
af2nfl we 3 grfers Rogr @ sigef 3 aeoRce gresdt o 3 ?

[Question ID = 1999][Question Description = 52_qgS5Nz_PG_GP10_0Q49]
1. Loss of human livesfargued o8 soo <5 ad

[Cption |0 = 79%3]
2. The abnormal natural events/saeaees gropfees s

[Cption [0 = 79%4]
3. Mot realising the gravity of the consequences of climate change/sremy ufrnia o ofiumal 6 =iftzar 59 s o oo

[Cption |0 = 79%5]
4, Downgrading the disasters/fPnmal ot ol o ez

[Option ID = 7996]

5) Read the given passage carefully and answer the following question,

Two factors have mainly caused the present disastrous conditions and events. One is the change in rainfall pattern resulting from climate change. The
mansoon behaviour has changed, and rainfall that used to happen over many days occur in a day or even in hours, making it difficult for the scil in the
plains and the hills and for many manmade structures to withstand the impact, The high altitude areas along the Western Ghats have been especially
vulherable, because of encroachments, destruction of forests, quarrying and mining, formation of human settlements, setting up of industries and other
cammercial enterprises, promotion of activities like tourism without checks and regulations and diminution of biodiversity. All these have separately and
collectively contributed to the present situation in the Western Ghats region which is ecologically very sensitive and valuahle, A western ghat State which
has inflicted the most damage on the environment has come to suffer the most.

The report of the Madhay Gadgil Committee which studied the destruction caused to the Western Ghats environment and made sensible recommendations
to remedy the situation was thrown into the dust bin, and another commitiee under Dr K Kasturirangan was setup to water dewn its praposals. The
recommendations of the Kasturirangan Committee were also not implemented. Gadgil had prophetically warned in 2013 that the tragedy that is waiting to
happen will not take ages but only four or five years to happen. The abnormal natural events and the huge devastation caused by them now may only be
intimations of bigger calamities lying in wait in future, Lives which are lost now will not be regained, and nature which is lost will take

several hundred years to rebuild itself. The greater tragedy is that the lessons of the tragedy are not learnt at all.
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The author of the passage regrets
SEIIYT O 2rET W BiE &

[Question 1D = 2000][Questien Description = 52_q5Mz_PG_GP10_Q50]
1. Enwirpnmental fgnorance on the part of policymakers /=i Rl 5 oefmdter amm=m &

[Option |0 = 7957]
2, Yulnerability of high altitude areas/ftrr zom mer &7 2 araiter @i &

[Cption |0 = 79%8]
3. Impact of environmental disasters /gafmemitr Bemer oF qamr &

[Option ID = 7999]
4, Mon-implementation of reports of committees e o fef o R o fr o 3

[Option 1D = 8000]
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